
Algebra 1 C h a p t e r 9 S e c t i o n 9 .8 and 9 .9 
Show W o r k on A n o t h e r Paper f o r C r e d i t ! ! 

For t h e fo l l ow i ng Q u a d r a t i c Equat ions f i n d t h e fo l l ow i ng t h e n S r a p h : 
a. A x i s o f S y m m e t r y e. W h a t is t h e Domain 
b - V e r t e x f . W h a t is t h e Range 
c. I f i t opens Up o r Down g. Y - i n t e r c e p t 

d. I s i t a M a x or M i n h. Z e r o s / X - i n t e r c e p t s / R o o t s 

ly^x'-4x + 3 2. y = 3x- + 12x + 8 ' 2.y = -x^ + 
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Axis of Symmetry.. 

Vertex: 

Z e r o s : 

Opens Up or Down:_ 

Max or Min; 

Domain: 
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Vertex: 

Zeros: 

Opens Up or Down:. 

Max or Min: 

Domain: 

Range: 

Axis of Symmetry:. 

Vertex: 

Zeros; 

Opens Up or Down:. 

Max or Min: 

bomain: 

Range: 



2 4 . A soccer p layer k i cks a bal l o f f t h e g round . T h e h e i g h t o f t h e bal l can be mode led by t h e quadrat i c f u n c t i o n 

- 0 . 5 ^ ^ +1)5 = h, where s is t h e t i m e in seconds a f t e r t h e k i c k and h is t h e h e i g h t o f t h e bal l in f e e t . 

a. Find t h e max imum h e i g h t o f t h e ba l l . 

b. How long t h e bal l is in t h e a i r . 

c. Find t h e h e i g h t o f t h e ball a f t e r 2 seconds. 

d. How long would t h e bal l be in t h e a i r i f i t was k i c k e d f r o m a p l a t f o r m 0 .5 f t above t h e ground? 

2 5 . A basebal l is h i t s t r a i g h t up in t h e a i r a t 128 f e e t per second . The bal l w i l l be a t a h e i g h t h a f t e r t seconds, as 

given by t h e f o r m u l a h = 128/ - 1 6 r ^ A t w h a t t i m e ( s ) is t h e ball a t a h e i g h t o f 144 f e e t ? 

2 6 . A r o c k e t is s h o t s t r a i g h t up in t h e a i r a t 200' m e t e r s per second. T h e r o c k e t wi l l be a t a h e i g h t h a f t e r t 

seconds, as g iven by t h e f o r m u l a h = 200t - 5t^ 
a. A t w h a t t i m e ( s ) is t h e r o c k e t a t t h e h e i g h t o f 5 0 0 m e t e r s ? ' 
h. How long is t h e r o c k e t in t h e a i r ? ! 
c. W h a t is t h e max imum h e i g h t o f t h e r o c k e t ? ' 

27 . N o r a j umps o f f a d iv ing b o a r d into a swimming pool . H e r h e i g h t is h m e t e r s above t h e board a f t e r t seconds, as 

given by t h e f o r m u l a /z = 8/ - 5f^ 
a. A t w h a t t i m e is N o r a 2 m e t e r s above t h e div ing board? 

b. A t w h a t t i m e is she 4 m e t e r s above t h e d iv ing board? 
c. I f t h e div ing b o a r d is 3 m e t e r s above t h e w a t e r , how long is N o r a in t h e a i r ? 


